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ECONOMICS

[Multidisciplinary Course (MDC)]
Course Code : ECO-MDC-T-01

(Basic Economics)
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Full Marks : 35 Time : 90 Minutes

Instructions to the Candidates:

e Candidates will be provided with a question cum answer booklet.

e The booklet contain 40 multiple choice questions, each carrying 1 mark. Candidate
will attempt 35 questions from the following (MCQ).

e Candidates must fill up his/her Registration Number, Year & Roll Number in the
space provided.

e Do not make any rough work on the answer booklet.

e At the end of the examination please return the answer booklet to the invigilator.
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Answer any thirty five from the following questions. [Choose the correct option and put
tick (v/) mark beside given box]: ' 1x35=35

e emefem A% fRem fdiva < e w1 s (v) oz i Tea e (@-crer stafai):
1.  The supply of money is controlled by:

ERENRIRICECH R ICE

a) Niti Aayog ]
S e

b) Planning Commission ]
sifgaal sfma

¢) Reserve Bank of India ]

- fawie giw w 3R

d) Central Government ]

@R T
2.  Price rise of a goods with perfectly inelastic demand will result in:

syl wifefogiors SRAIRRE s e 9 corE:

a) Increase in total revenue from goods f=]
736 (A b =y I =

b) Decrease in total revenue from goods ]
7fb (A G SR 0 A

c) Decrease in quantity demanded of this goods M
wafba sifEuia sifase s T

d) No change in total revenue from goods ]
73 (A0F AR @ #Afada 2 A

3.  The difference between pérsonal income and personal disposable income is known

as:

e or @R I fFeeferisy siem 6y A1 3E:

a) Capital transfer ]
PEECEARICES

b) Personal current taxes ]

¢) Total income []
(I =1

d) Indirect taxes ]
ATAF T4
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If an increase income of consumer leads to decrease in demand for goods X, then it

is:

3 (ereTa o 3fa w0 U X @3 B Z9 #iE, O @2 w9 2@

a)

b)

c)

d)

An exception to the Law of demand observed in case of :

A normal goods
Frelfee g9
A Giffen goods

-

An inferior goods

e w3

Luxury goods
feeTm

BifRwl Lad JfeE™ (1 I (I OIS (LA 7

a)

b)

c)

d)

For the demand function Q = 10 — 2 P, the inverse demand function is:

SifE SerEs Q = 10 — 2 P -9 RofSIe Siesiw et

a)
b)
c)
d)

Normal goods
FeRE 79
Inferior goods
fige
Giffen goods
force @

For above all -

TAEI TR IO CFGE

P=10-2Q
P=10-12Q
P=5-12Q
P=5-2Q

0 TR LA o AR 75 ) ) AR 5 IR 1

B 9
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Consider following statements and select the correct option:

104/Eco(N)

Statement 1 : Cross price elasticity for complementary goods are negative

Statement 2 : Cross price elasticity for substitu_le goods is zero
Rigfs uf5 (< 3w e o 3

RS 1+ 5 Afofers 20 oAl W Rzl 41es
Rgf® 2 : s wearm sieifas v Pfezioreet 5= =

a)

b)

c)

d)

Statement 1 is false but Statement 2 is true
fR3fe 1 g=1 e R3fS 2 =

Only Statement 1 is true

wyg 3 1 919

Only Stateme-nt 2 is true

syalg [{3fS 2 s

Both the Statements are true

As we move downward along a concave production possibility frontier:

SR T D Te TeAA AR ANG I91K7 A0va e 77 T3

a)

b)

c)

d)

Marginal rate of transformation of X for Y increases

Y ga & X @3 weiiersd 2ifes g 3fa o

Marginal rate of transformation of X for decreases

Y G357 X 93 Ferered e 219 21 2w

Marginal rate of transformation of X for Y remains same
Y @2 & X @3 Helrerad Aifes 211 @32 A

There is no relation between shape of the production possibility
frontier and marginal rate of transformation

T TERAT FAE SIFS R TR 2T =T Ty (@FHE TE 73
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What is the shape of the perfectly inelastic supply curve?

el GiEfeRIe @I @RI SIS Remet 2

a)  Horizontal

g
b) Downward sloping
BERR
¢) Upward sloping
e
d) Vertical
Ty
Which one is NOT true for an indifference curve?
Rt ER R (MG ey 7 2
a)  Utility level remains same along an indifference curve
PR 919 AT 93 92 AT

b) Indifference curve is convex to origin

L g e R 1 e

1 R e AR o

c) Higher indifference curves show higher levels of utility
Sren e GITS Sefcaiel we o 2
d) Indifference curves can interséct each other ' B

fRter® @4 AT (=W I AR

If we want to increase production then we need to purchase more raw materials. This
cost is called:

R AR st T 3R T @ R o (3 A9 3% A I S

a) Variable cost

]
AfFETNe 7
b) | Fixed cost 2
EERE
¢) Opportunity cost ]
_ RRIBEIE]
d) Sunk cost [

frafeee arg
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Which is NOT a correct assumption for the Law of variable proportions?

a)

b)

c)

d)

Only one factor is variable while others are held constant [
T BARICR AT 72, (PTG i TAMI ARETA

There is no change in technology ]
o R SRS A

It assumes a long run situation ' : ]

It is possible to vary the proportion in which different inputs are combined []
T AT LM Seire #ffeda Fa I

At minimum point of average cost curve:

_d)

N A (TR 7 e

a) Marginal cost > Averagelcost ]
2l a9 > 5% I

b) Marginal cost < Average cost ]
e T < 51T W

cl) Average cost = Marginal cost 3
51 7 = &ifes I

d)  Marginal cost =0 [:]
A ga =0

From price consumption curve we derive:

A Cos! (1 (U0 el v T

a) Demand curve ]
oifEat it '

b)  Supply curve ]
= 9

¢) Iso-quant curve []
3 TeoAme (a4l
Production function ]
T SAHS
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For fixed coefficient production function, iso-quant is:
fza wieire B Testhm @4l (40 (@ A9 TeAma @1 2edl I8 O wIghe &

a)

b)

c)

d)

Concave to origin

7 ez e wree

Convex to origin

& R face Te

Downward sloping straight line

e waeE
L-shaped
L @igfe 2

In which stage of production function the producer is rational?
TeoAma SArFEd (@ A 57 TeAMs Sesii Fa ?

a) Increasing Marginal Product
FIRER 2T CeomaaeTe]
b) Zero Marginal Product
%) e TSl
¢) Positive but decreasing Marginal Product
HANS g A Tl
d) Negative Marginal Product
YIS 2GS Tesmeaiere!
Which one of the following is the characteristics of perfect competition?
e @i o eferaiisrom a2
a) It has large numbers of buyers and sellers and selling homogenous

b)

d)

product at uniform price
Y (el € el A @R e ) 3 vl Ren s @

It has large numbers of buyers and sellers and selling differentiated
products product at uniform price '

P (el ¢ feare! AE @R 9j34F ¥ I s 31 &

It has large number of buyers and sellers and government decides
the price of the product '

S1eR) (el @ Rraret A G32 Wi Wi e e w3
There is barrier for entry and exit of the firms
FIGHE A3 6 &2 1Y 7

ol P 5

1l g 0 PSR T o )
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Profit maximization condition of a producer is:

TeAMTEa AT TR =S 2

a) Marginal revenue > Marginal cost
2ifes oI > e 1

b) Marginal cost > Marginal revenue
s 3 > alfes = '

c) Marginal revenue = Marginal cost
21 =Y = 2ifes I
d) Marginal revenue = Average cost

21 oI = 51e 9

20 el 61 Sl 1 R

Absolute value of slope of the iso-cost line is:

A (I B 27 S ZCel:

a) ratio of product prices ]
7% TCA WIS SIHATS

b) ratio of factor prices ]
T 763 WICTE S ATS

¢) ratio of two goods J

d) None of the above ]
AR (AR 7

Which of the following are features of monopolistic competition?

A afswifrern e @G ?

a) Similar but differentiated product ]
A {9 e TR T

b) Presence of advertisement cost‘ B4
Rtoi 09 SR

¢) Normal Profit in long run Lo
A Frelfie T wfEr

d) All of the above ]
CRlCERELIY
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Demand curve of a monopolist firm is:

«sioal TRl s @
a) Upward sloping
T
b) Downward sloping
@t
c) Horizontal
TR
d) Vertical
. Emw
Which of the following is NOT a part of aggregate demand?
fFiva e e sl o e
a) Consumption |
ceis
b) Investment
ffacast
c) Government expenditure
HESAIREIE
d) Rate of interest
CGERG
Which of the following comes under GDP?
57 @A GDP 93 T STYE ?
a) Illegal drug sales
BI74F w34 Ry
b) Housework
pisa
c) Pensions
(ool

d) Consultancy Services

104/Eco(N)

7 R L TR 7 (e

|2 Rgeai) i e i

=
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Example of transfer payment is:

RIS IRERCERE R GE

a) Old age benefits ]
4 erel '

b) Disability funds ]
efermeet 2

¢) Unemployment benefits ]
@F1F el

d) All of the above {3
T GEREEa

If nominal rate of interest is 8% and rate of inflation is 3%, real rate of interest is:

L A WA b% G3R UG T 9% Z(E 4P I YA -

a) % O]
¢%

b) 1% O
%

c) 11% O
3% _

d) None of the above [:1
THATER (FHIOR T

A suitable measure of standard of living of a country is: -

@ G oo SR e 9 By e ==

3) = Per caPita GDP |
Mg G S Tesiva |

b) Per capita real GDP ]
TAfPg oS (b GRS A

c) Real GDP ]
&AFS (A GO TATH

d) GDP i
I TSI T
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27, Financi:al Intermediaries move funds from:

28.

29.

Consider an economy with the consumption function c

e NYFoRFal XA ZReS -
a) Buyers to sellers
(O (U RIS
b) Investors to borrowers
RFEISRIAGE (A FAAASIHR FIR
¢) Borrowers to firms
FeIS RO (A T @3 T
d) Labour Union to firms
S IR (U T 9T R
What are possible causes of a deficit budget?
@R TEfs ACEHES TSR T2 |
a) Increased G'overnme;'lt spending on infrastructure
b) Red_uced tax revenue
39 (AT 9 A Ael
¢) Emergencies that require increased government spending
e oo el o9 I
d) All of these.
7%

propensity to consume is:

@ @3 wRifea cotat serEs C = 100 +0.7Y A 2 (el9l 2R AW LAl

a)

b)

c)

d)

100

Y00

1

0

&

0.7

0.5

104/Eco(N)

O EEaeEl - [

f 01

O

=100 +0.7Y, then the Marginal

o e o R ol S
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Which one represents the expression for the Simple Keynesian Multiplier?

AT AR et 7 fisa @R

a) 1/MPS-MPC 53

b) 1/1-MPC ]

c) 1/MPS+MPC =l

d) 1/APS ]

Which_ one of the following is flow concept?

wa @R 2arz e

a) Investment . &)
fferczar

b) Inventory ]
STl _

¢) Capital Stock I3
TGS YL

d)  Value of the asset at specific point of time ]
78 1 sop oy

What is meant by Paradox of thrift?

AL ForeM o100 [+ @RI 2

a) Increase in propensity to save more which leads to decrease in
aggregate savings o
A AT I = B SHeeraa 2

b)  Decrease in propensity to save leading to increase in aggregate savings |
ALY 2Rere] mm I I AR I

c) Increase in government expenditure leading to increase in private savmgs =] -
TRFI 7 IR w0 @i ey I

d)  Decrease in government expenditure leading to decrease in private savings ]

Wﬁmmm@wﬁw@am
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Find GNP at market price, when GDP at factor cost = Rs. 3000, Net foreign income
from abroad = Rs. 200, Indirect tax = Rs. 420 and subsidy = Rs. 240:

AT WICH Rraeat 7 74w Toimie e fafef = ©000 B, RO (A0F TS 6 W’ = 00
B, #ICATF 39 = 830 DI IR OYIF = 380 DIF:

2) Rs. 3380 . i 0O
©Oro B
b) Rs. 3020 O
wo3o BiFl -
¢) Rs. 2980 0
5o TiFt
d) Rs. 2620 0
330 B

Gross national product at factor cost = Net national product at factor cost when:
B oAV WICH 3 SO TR = WA WA G GOT SLATH ZC#T:

a) Net foreign income from abroad is zero il
R (A0 S99 I W = 0

b) Net indirect tax is zero o
G AAFFI=0

¢) Depreciation of fixed capital is zero Bel
AR TCESRE =0

d) All are zero I
A0 T 40

Which of the following is factor cost?

A (P ST T2

a) Rent O
TG

b) Wage O
o

c) Profit |

i T
d) All of the above ]

Boiaa ek
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36. Two sector closed economy consists of:

12 o7 R85 weiifen ora 7 Ze:

a)  Firms and foreign sector -l
T G A g

b)  Firms and households ]
T @3¢ “Afzam

¢) Government and Firms B
TP @32 T

d)  Households and Govemment_ ]
MfRRIT 9%

37. Real flow refers to the flow of:

AT AR TS (I

a)  Goods and services across different sectors of the economy
AT 73y 22 oAz et

L[]

b)  Factor services from households to producers

i cwwmm@wm@wm Rl oi

¢)  Both (a) and (b) ]
(a) 9% (b) Tey

d)  None of the above ]
AT (PR 7

38. Which one is NOT a'leakage factor from circular flow of income?

A A 38 @I et 7z 2

a)  Government expenditure []
MER BT

b)  Savings ]
ALY

¢) Import ]
it _

d Tax ]
9
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39. Narrow money is defined as:
A< T IS @R

a)  Currency held by public + demand deposit + other deposits with
Reserve Bank ]

IR QTS ARE FsiG TH1 + BifEat @S + RBI @3 30z 9ifige
RRIRIACINICI)

b)  Currency held by public + demand deposit + savings by people
in post offices ]
GPTILIATER ZTS AF FIE T + SIEw SIS + (2T SR Awsy

c) Demand deposit + savings by people in post offices + Time deposits
with the bank : ]

BIFZW SIS + (PG SRR A%y + FiEa EEii e

d) Currency held by public + demand deposii + Other deposits with Reszrve
Bank + Time deposits with the bank O

G 20O A FIorGT @ + BifEw e + RBI @3 96107 51049 Sie)
YIS + JPIFA R SIS

40. To reduce inflation a government:

TIPS 2P F08 Il 3 TaF:
a) reduces government expenditure J
< NFFIE 9 P TR

b) increases government expenditure ]
773 37 & I3

c) reduces Repo rate O
it (Repo) (36 3P1 3

d) reduces tax rate ]

SeERER TR )




